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that the ratio of the answer obtained to the optinum TSP solution is 
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Stable Marriage
� Consider a set of n women and n men.
� Each person has an ordered list of some members 

of the opposite sex as his or her preference list. 
� Let µ be a matching between women and men. 
� A pair (m, w) is a blocking pair if both m and w

prefer being together to their assignments 
under µ. Also, (x, x) is a blocking pair, if x prefers 
being single to his/her assignment under µ.

� A matching is stable if it does not have any 
blocking pair.
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stabil… yay!
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(…there is not even a wikipedia article on Nicos Christofides…)
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